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TRUONG DAl HOC VAN LANG
PON VI: Khoa Tai chinh — Ngan hang

DE THI VA PAP AN
beé thi Lan 2

THI KET THUC HQC PHAN
Hoc ky 2, nam hoc 2023-2024

I. Thong tin chung

Tén hoc phan: | Anh van chuyén nganh tai chinh 2

M4 hoc phan: | DTA0060 Sé tin chi: | 3
M4a nhém 16p hoc phan: | 232_DTA0060_01
Hinh thic thi: Tric nghiém két hop Tuw luan Thoi gian 1am bai: | 75 | phat
Thi sinh dwec tham khdo tai li¢u: Co [J Khong

Cach thirc ngp bai phan tw luan (Giang vién ghi rd yéu cau): SV g6 tryc tiep trén khung tra
101 cua hé thong thi

I1. Cac yéu cau caa dé thi nham dap wng CLO
(Phdn nay phdi phoi hop véi thong tin tir @é cuirong chi tiét ciia hoc phan)

Lay dir
Ky Hinh Trongsé CLO | Cau | Piém | liéu do
hiéu Néi dung CLO thiec | trong thanh phan | héi ) lwong
CLO danh gia | danh gid (%) | thiso | toi da | mirc dat
PLO/PI
(1) 2 3 (4) ) [ (6) ()
Giai thich nhiing tur
vung, thuat ngir co Tréc Cau
CLO1 | ban cua nganh Tai - 25% TN 1-| 2,52
chinh ngéan hang nghiem 18
bang tiéng Anh
Van dung kién thuc ]
vé ngit phap, chirc Cau
nang ngon nglh tr | 4 n
cLo2 | V¥nedegiaotiep ) g 250 19-321 5 46
(\_/a}n no1 va van U3 + cau
viét) trong cac cha | |V luan hoi tu
d& nganh Tai chinh luan
Ngéan hang '
Van dung tu duy
phén tich dé doc Tréc Céu
CLO3 | hiéu dugc va nam . 25% TN 2,52
duoc ¥ chinh cac tai nghiém 33-50
liu chuy@n mén vé
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Tai chinh — Ngén

hang bang tiéng
Anh
s AA 4 Cau
Co thai do6 tich cuc
g v , A 0 2 >
CLO5 hoc tap va tir hoc. Tu luan 25% hlcl)qu';u 2,5

I11. Noi dung cau hei thi . o )
PHAN TRAC NGHIEM (50 cau héi, moi cdu 0,14 diem, tong diém: 7)

.....1s a person that possesses belongings in trust as a beneficiary
A. Fiduciary

B. Clientele

C. Manager

D. Work ethic

ANSWER: A

Is the following sentence correct? Are the above average losses due to increasing
competition in the market?

A. Correct

B. Incorrect

ANSWER: A

Thriva is known as beinga .................. investment company.
A. conservative

B. financial

C. moderate

D. real

ANSWER: A

A personal broker can be hired to make decisions on your .......
A. behalf

B. direction

C. belief

D. profit

ANSWER: A

Which firms do you think will make a ................................... for the majority of stocks
this month?

A. bid

B. white knight

C. bankruptcy

D. deficit

ANSWER: A

The last housing ....... was followed by a severe economic recession.

A. bubble
B. inflation
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C. contract
D. indicator
ANSWER: A

Is the following sentence correct? Sam is a tax consultant not just a tax preparer.
A. Yes

B. No

ANSWER: A

A position at Mack Investments offers a reasonable salary with a large
annual ..................

A. bonus

B. price

C. fee

D. target

ANSWER: A

What experience do you have of working with .................. strategies?
A. procurement

B. deduction

C. equity

D. brokerage

ANSWER: A

............ means the annual amount consumers pay to maintain an insurance policy
A. premiums

B. agent

C. file

D. term

ANSWER: A

Ahigh..............ccc............ remained due to costs being almost double the level of
revenue.

A. deficit

B. outstanding

C. bankrupt

D. bankruptcy

ANSWER: A

Is the following sentence correct? The world economic scene is full of money supply due to
the size and differences.

A. Incorrect

B. Corrrect

ANSWER: A

Neoclassical economists believed that individuals would make .............. choices.
A. rational
B. gross
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C. spending
D. public
ANSWER: A

Is the following sentence correct? Government officials held talks to determine ways to
boost the monopoly.

A. Incorrect

B. Corrrect

ANSWER: A

There has been a rise in the level of investmentinreal .................. recently.
A. estate

B. purchase

C. share

D. value

ANSWER: A

Mark was very experienced in working with .................. market accounts
A. money

B. cash

C. trade

D. tax

ANSWER: A

After a rocky start to the day, the stock market is finally gaining ...................
A. points

B. clients

C. profits

D. revenues

ANSWER: A

What wil B say? A: I assume you got the email and accounting records. B:.....
A. Yes, but I have to say I’'m not sure what to make of it.

B. Yes, but I'll help you figure out the cost.

ANSWER: A

Is the following sentence correct? The figures are much higher in comparison with those of
this time last year.

A. Correct

B. Incorrect

ANSWER: A

...... means the difference between total income and all expenses
A. gross profit

B. net profit

C. working capital

D. retained profit

ANSWER: A
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Underthe .........ccooceeiiniinn. , the management of the company was completely
rearranged.

A. receivership

B. divestment

C. outstanding

D. bankrupt

ANSWER: A

The CEO of TGT Corporation welcomed HarperC as its ............ccoceeeveieeevcenvinnnne.
company in Zurrich.

A. parent

B. restructure

C. outstanding

D. receivership

ANSWER: A

At the end of the year, Todd earned a considerably large .......
A. bonus

B. salary

C. wage

D. payroll

ANSWER: A

The creditors decided to finally ............ccc.....ooeal. the company’s debts.
A. call in

B. shut

C. outstanding

D. tender

ANSWER: A

Is the following sentence correct? Having a strict quality control process can help reduce
costs and waste.

A. Correct

B. Incorrect

ANSWER: A

Is the following sentence correct? The recent drop in sales is due to strategic trend in
December and January.

A. Incorrect

B. Correct

ANSWER: A

One sign of a recovering economy is the increase in the number of ............... starts.
A. housing

B. boom

C. product

D. sector
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ANSWER: A

............ means to make a conclusive decision about something
A. determine

B. estimate

C. protect

D. term

ANSWER: A

A change in exchange rates greatly affects the trade in ...... markets.
A. currency

B. credit

C. money

D. stock

ANSWER: A

A. | spent 3 years in payroll department in my previous job.
B. The company used the data.
ANSWER: A

The owner of the company was obliged to declare ............................... due to severe
problems.

A. bankruptcy

B. parent

C. outstanding

D. receivership

ANSWER: A

...... means a decrease in an asset’s value due to age or use
A. depreciation

B. inventory

C. overhead

D. cost of inventory

ANSWER: A

It looks like the national airline will face a complete ....... next week.
A. shut down

B. let go of

C. fall into

D. call in

ANSWER: A

............... is the process of searching for facts in order to prove something
A. Investigation

B. Regulation

C. Breach

D. Trading
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ANSWER: A

Two major firms have made a tender ....... for a complete buyout of TRM.
A. offer

B. target

C. trend

D. startegy

ANSWER: A

A. Pretty well, actually. | picked up some new clients this week.

B. Pretty good, actually. I find it boring to carry out clients’ orders.
ANSWER: A

The ............ price index (CPI) shows changes in the level of spending.
A. consumer

B. complexity

C. investment

D. spending

ANSWER: A

The business consultant advised Greg on which .................................. structure to
choose.

A. legal

B. surplus

C. consumers

D. downturn

ANSWER: A

Is the following sentence correct? Which three countries are members of the North
American Free Trade Agreement?

A. Correct

B. Incorrrect

ANSWER: A

Is the following sentence correct? Consultants need to be fully aware of our clients’
financial cir-cumstances.

A.Yes

B. No

ANSWER: A

.....1s one of the bank’s local offices
A. Branch

B. Breach

C. Fiduciary

D. Corporation

ANSWER: A
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...... means the money a business receives for its products after discounts, returns etc.
A. net sales

B. cost of sales

C. net profit

D. gross profit

ANSWER: A

The staff at MFL are not justtax .................. , they are advisors too.
A. preparer

B. brokers

C. shareholders

D. traders

ANSWER: A

Katrina has been working in the .................. office at PCG Invest for the last 5 years.
A. back

B. gross

C. tech

D. trend

ANSWER: A

Is the following sentence correct? The only monetary authority that exists for a country is its
central bank.

A. Correct

B. Incorrrect

ANSWER: A

What wil B say? A: | know AVM had some financial problems but they were very
profitable. B:.....

A. That’s true but that was several years ago.

B. That means fewer loans at a higher interest.

ANSWER: A

.............. is the act of breaking or rupturing something.
A. Breach

B. Violate

C. Confidence

D. Motivation

ANSWER: A

The client’s needs and comfort level of risk are part of the investor ........
A. profile

B. planning

C. goal

D. aim

ANSWER: A
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Is the following sentence correct? When inflation persists, the central banks take
contractionary steps to reduce it.

A. Correct

B. Incorrrect

ANSWER: A

Is the following sentence correct? One of the main aims of the government is to maintain
price hyperinflation.

A. Incorrect

B. Corrrect

ANSWER: A

PHAN TU LUAN (1 cau héi 3 diém)
Cau héi 1: The number of young people choosing to start their own business right

after graduation is increasing. Do you agree or disagree with this trend? Write a short
essay (150-200 words) to give your opinion.

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi | Ndi dung dép an Thang diém | Ghi chi
I. Tric nghiém 7,0
Cau1-50 | Theo dép 4n trén dé o trén 7,0
I1. Tw luan 3,0
Caul Noi dung 1,0
Pung ngit phap va cau trdc caa 1,5
doan van
Trong s6 tir quy dinh 0,5
Pié¢m tong 10,0

] TP. Ho Chi Minh, ngay 30 thang 3 nam 2024
Ngwoi duyét de Giang vién ra de

‘ o0

‘ ‘ B \G Link Toon
HOANG HOA SON TRA
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